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Transforming a matrix to

TRANSFORMING MATRIX TO THE REDUCED ROW ECHELON FORM

Row

Operation
1:

Row
Operation
2:

Row
Operation
3:

Row
Operation
4:

Row
Operation
S:

add -1 times the 1st row
to the 2nd row

add -2 times the 1st
row to the 4th row

multiply the 2nd row
by -1/2

add -1 times the 2nd
row to the 3rd row

1 23 41000
1 0 0 0100
016 -1 00710
222 2 00 0 1
1 2 3 4 1 000
0 2 3 2 -1 100
01 6 -1 01 0
2 2 2 2 00 1
1 2 3 4 1 000
0 2 3 2 -1 100
01 6 -1 0010
0 2 4 6 200 1
1 2 3 4 1 0 00
3 1 -1
01— 1——200
2
1 6 -1 0 0
2 4 6 -

1 2 3 4 1 0 00
3 1 -1
01— 1——200
2 2 2
9 101
00— 2——10
2 2 2

add 2 times the 2nd
row to the 4th row

reduced row echelon form .,

1 2 3 4 1 000
0 2 -3 -2 -11200
0 1 -1 01 0
2 2 2 2 0 0 1
1 2 3 4 1 000
0 2 -3 -2 -112020
01 6 -1 0 010
0 2 4 6 -2 0 0 1
1 2 3 4 1 0 0O
3 I -1
O 1 —1 ——00
2 2 2
01 6 -1 0 O 1 O
0 -2 4 6 -2 0 01
1 2 3 4 1 0 0O
3 I -1
O 1 —1 ——020
2 2 2
9 -1 1
O 0 —-2——120
2 2 2
0 -2 4 6 -2 0 01
1 2 3 4 1 0 00
3 I -1
o1 —1 ——020
2 2 2
9 -1 1
00 —-2——120
2 2 2
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0 2 4 6 -2 0 01 00 -1 4 -1 -1 01
1 2 3 4 1 0 0O 1 2 3 4 1 0 0O
3 1 -1 3 1 -1
o1 — 1 ——00 Oo1 —1 ——020
g;vevr ation 2 2 2 multiply the 3rd row 2 2 2
6: 9 11 by 2/9 4 -1 1 2
00 —-2——120 001 ————20
2 2 2 9 9 9 9
00 -1 4 -1 -1 01 00 -1 4 -1 -1 01
1 2 3 4 1 0 0 0
1 2 3 4 1 0 0O 3 L1
3 1 -1 o1 — 1 ——00
o1 —1 ——00 2 2 2
gm;, ation 2 2 2 add 1 times the 3rd 4 -1 1 2
7.p 4 -1 1 2 row to the 4th row 001 —— —— 0
o0 1 ————20 9 9 9 9
2999 40 -10 -8 2
00 -1 4 -1 -1 01 00 0 ————1
9 9 9 9
1 2 3 4 1 0 0 0 1 23 4 1 0 0 O
3 1 -1 3 1 -1
o1 — 1 —— 00 o1 —1 ——0 0
R 2 2 2 2 2 2
ow .
Operation 4 -1 1 2 multiply the 4th 4 -1 1 2
8: 001 ———— 0 |rowby-940 001 ————0
9 9 9 9 9 9 9 9
-40 -10 -8 2 1 1 -1 -9
00 0 ————1 o000 1 ————
9 9 9 9 4 5 20 40
1 23 4 1 0 0 O 1 23 41 0 0 O
3 1 -1 3 1 -1
o1 —1——20 0 o1 —1——20 0
Row 2 2.2 add 4/9 times the 2 2 2
Operation 4 -1 1 2 4th row to the 3rd 1 1 -1
o 001 ———— 0 |ToW 0010 0———
9 9 9 9 5 5 10
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Row
Operation
10:

Row
Operation
11:

Row
Operation
12:

Row
Operation
13:
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TS R R
00 1 ————
4 5 20 40
23410 0 0
30001 -1
Il —1—— 0 0
2 2 2
S
010 0———
5 5 10
11 -1 9
001 ————
4 5 20 40
23410 0 0
3001 7 1
1 — 0 —— — —
2 4 10 20 40
11 -
0100 ———
5 5 10
11 19
001 ————
4 5 20 40
4 1 9
2300 —— —
5 5 10
301 7 1 9
1 —0 —— — —
2 4 10 20 40
(S T
0100 ———
5 5 10
11 19
001 ————
4 5 20 40
4 19
2300

add -1 times the 4th
row to the 2nd row

add -4 times the 4th
row to the 1st row

add -3/2 times the 3rd
row to the 2nd row

add -3 times the 3rd
row to the 1st row
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11 -1 -9

000 1 ——— —
4 5 20 40
123410 0 0
3001 7 1

01 —0————
2 4 10 20 40
T

00100———
5 5 10

11 -1 9

000 1 —— — —
4 5 20 40

4 1 9

12300 ———
5 5 10

301 7 1 9

01 —0————
2 4 10 20 40
T
00100———
5 5 10

11 -1 9

000 1 —— — —
4 5 20 40

4 1 9

1 2300———
5 5 10

1 13

01 00—-1——
4 4 8
11
00100———
5 5 10

11 -1 -9

000 1 ——— —
4 5 20 40

7 2 6

12000 __ _~
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Row
Operation
14:

o= u| -

add -2 times the 2nd
row to the 1st row
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5 5 5

1 1 3

1 00— -1 — —
4 4 8
11 -1
0100 —— —
5 5 10

1 1 -1 9
001 ——— —
4 5 20 40

13 1 9
000 ————
2 5 10 20

1 1 3

1 00— -1 — —
4 4 8
11 -1

010 0 —— —
5 5 10

1 1 -1 9
001 ——— —
4 5 20 40
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